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ANNUAL EXAMINATION
MARCH 2007

CLASS - IX

Max.Marks:80









Time: 3 hours
MATHEMATICS

       General Instructions:

1. All questions are compulsory.

2. The question paper consists of 20 questions divided into three sections A, B and C.

3. Section A contains 8 questions of 3 marks each, Section B is of 8 questions of 4 marks each and Section C is of 4 questions of 6 marks each. 

4. There is no overall choice. However, internal choice has been provided in two questions of three marks each, two questions of four marks each and one question of six marks.

5. In question on construction, the drawing should be neat and exactly as per the given measurements.
SECTION A
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1. If                    , prove that  x2 – 4x +1 = 0 






3
2. When f(x)=x3-9x+a and g(x)=ax3+13x2-2x-11 are divided by x+3, remainders are equal. Find the value of a.










3
3. Locate the following points on a Cartesian plane:
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(i) A (3,-2) 
     (ii) B (-4,0)
       (iii) C (-3,-1)

(iv) D (½,3)  


4. Express as a rational number:
0.62323232323………… 




3
OR


Show that 
[image: image13.png]








3
5. If the graph of 2x =  y + k passes through (3,4), find the value of k.



3
6. In the figure, ABCD is a trapezium with AB||DC. Diagonals AC and BD intersect at O.

Prove that ar (ΔAOD) = ar (ΔBOC)  
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7. (a) The weight (in kg) of 10 students are shown below. Find the median of the data.
3  

39, 30, 45, 41, 36, 52, 42, 29, 46, 38


(b) Find the mode of the data given below.







1,3,5,7,3,5,4,7,2,7,4,12,10,11,3,7,8,6,7,7,4,2,11,7,15

8. The following table gives the lifetime of 400 Neon lamps. 
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	Lifetime (in hrs)
	300-400
	400-500
	500-600
	600-700
	700-800
	800-900

	No.of lamps
	14
	56
	60
	86
	74
	110


A bulb is selected at random, find the probability that the lifetime of the selected lamp is

(a) less than 400 hours?

(b) between 300 to 800 hours?

(c) at least 600 hours?  

SECTION B

9. The sides of a triangle are in the ratio 12 : 17 : 25 and the perimeter of the triangle is 540 cm. Find its area.










4
10. Factorize the expression:
x3 – 23x2 + 142x – 120




4
11. Draw the graphs of the equations 3x – 2y = 4 and x + y – 3 = 0 on the same graph paper. Hence, find the point where the two graphs intersect.





4
12. Construct ΔABC in which BC=3.6 cm, AB+AC=4.8cm and (B=600.   


4
13. In figure, AE||BD and AC||ED, find the values of (x and (y.



4
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Find the value of x
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14. The sum of the radius of the base and height of a solid cylinder is 37cm. If the total surface area of the solid cylinder is 1628 cm2, find the volume of the cylinder.



4
15. ABC is a triangle right angled at C. A line through the mid point M of hypotenuse AB and parallel to BC meets AC at D. Show that D is the midpoint of AC.

Also prove that (i) MD 
[image: image2.wmf]^

AC   (ii) CM = MA = ½ AB




4
16. Find the values of (RTQ and (RQT from the figure.
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SECTION C

17. (a) Write the following in expanded form:

     
(i) (–2x+3y – 5z)2

(ii)   
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(b) Verify: x3 + y3 + z3 – 3xyz 
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     Hence factorize x3 + 8y3 + 27z3 – 18xyz






6
18. A dome of a building is in the form of a hemisphere. From inside, it was painted at the cost of Rs.498.96. If the cost of painting be Rs.2 per square metre, find

(i) the inside surface area of the dome.
(ii) volume of air inside the dome.

6
19. (a) In figure, ABCD is a square and ΔBCP is equilateral. Prove that AP = DP.


[image: image6]
(b) PQRS is a quadrilateral in which PQ is the longest side and RS is the shortest side. 

     Prove that (R > (P and (S > (Q.
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OR


(a) In triangle ABC, D is a point on BC such that AD 
[image: image7.wmf]^

BC. Prove that AB > AD, AC > DC and 

     AB + AC > BC  


(b) ΔABE is right angled at B. On sides BE and AE, squares BEDC and AEFG are drawn. 

              Prove that ΔBEG 
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 ΔAED      
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20. The monthly profit (in rupees) of 100 shops are distributed as follows.

	Profit per shop
	No. of shops

	0-50
	12

	50-100
	18

	100-150
	27

	150-200
	20

	200-250
	17

	250-300
	6


Construct a histogram and frequency polygon for the above data.   
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